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uga A: MCQ

l. deroumd  srgpemseisd  ap 2 6afl@  whpd OCaefull s  Frseamors
UWSTILBSSLILB ST
Which of the following device is used for both input and output?
a. &y (Mouse)
b. @iFalGuNM (Printer)
c. Buaasiniy (Joystick)
d. @sreaeny (Touch screen)

2. 90 sofafwe goarlsorss graloas CAAUUSHEGL UWSLESHSULGS s
FENSED 61517
What is the device used to temporarily store data in a computer?
a. &Mbe mrLr (Magnetic tape)
b. umibEe BHensmeus (Cache)
c. ouareu’(p (Hard disk)
d. Opalpeu’® (Floppy disk)



. Leiieu@md HmaushHdHed HEMID FnpiEMENS QBTIQITSH [Henareusd g7
Which storage device does not have moving components?

a. euehieu ® (Hard disk)

b. Blu ray disk

c. &npy BT (Magnetic tape)

d. pzeusd Gauiliumenr (Flash drive)

. 9 sofaiullsd Uysremnors pHeoteud uFlelpdsd (installed)  Geunwatiul
Gousmtgus GoeTELIMEHET 61317
What is the software that should be first installed into a computer?
a. OS
uweiLm’ @ GwsiGurmsit (Application software)
B&F& Byed smeusvy (Virus guard)
Defragmentation software

o g

. Speremiucupyed LWUTL@ CWaTOUTIHEHEBETE 2_HTJeNild 61gl?
Which of the following is an example for utility software?

a. s @ eumlp (Disk scanner)

b. Ubuntu

c. Windows 10

d. Gsreuld (Compiler)

. pelenr GFuwsnpauPwrsdlulsi Gausd smal LLGaG!.
The speed of modem processors are measured in:

KHz

GHz

GB

MHz

EO GRS

. Uesupeusmeudmled oL Henensusd uDBlus 1Renpuires Fpm e1g?
Which of the following statement regarding primary storage is incorrect?
a. Gopeunen Hemeneud enallener GasramiBeengl. (Low storage volume)
b. eopbs igmssd Gausd (Low access speed)
c. &mBhS Signssd Gryw (Low access time)
d. Not volatile



8. @by PeoemcuspHei a1 (magnetic storage) @uuiG Gurg Hewiw PeoaTouss
gngenmisefien (solid-state storage) pevanio arg?
What is the advantage of solid-state storage devices over magnetic storage?

a.

GmphoHeneuTan Gutengs G Ceuaiiullensid afHSamEl.
(Takes less physical space)

b. oifs Peaious senalmens Gsream@siteng. (Has more storage volume)

c. ofs poussHSeieno (More reliable)
d. eaps aumswner sHysieeub GpEs wywjb. (Can store any type of data)
9. e® Qared (WPoPaPUBHSL  BaETlmeNg  LidumelsToubpisT  6IGITS
SflwIu@aleimgl?

A word processing file is known as:

a.

b
C.
d

uemigbsner (Worksheet)

. yeuemitb (Document)

(peiiemaull BaipsHHiens (Presentation)

. uenliysssn (Workbook)

10. SpanewiLisuBllsd 61k @@ GFT (WeBPBUIUGHHD GLoaTQLITHsIT
Which of the following is a word processing software?

a.

b.
c.
d.

Libre office Writer
MS Excel

Libre office Impress
Libre office Calc

11. sflwren ellenaliLcvenss GosGaufuimansd Gsfla?
Select the correct keyboard shortcut

a.

b
C.
d

Alt+ F5 : Close file

. Ctrl + Y: Undo

Ctrl + P : Paste

. Ctrl + O : Open existing file

12. deeumenemaupmisii  Coud Digmisedenenr (access speed) gm auflmsulsd &m @b

oy 6137
Which of the following statement shows access speed in ascending order?

a.

b.

oo (5 (Hard disk), &mbs ®mLr (Magnetic tape), Optical storage, Pen

drive
Pen drive, eusiteu’® (Hard disk), , Optical storage, &smbs mrLr (Magnetic
tape)
&mbgs BTLT (Magnetic tape), Optical storage, Pen drive, susiiow’ @ (Hard
disk)

&mbs /ILT (Magnetic tape), Optical storage, eusiteu’ § (Hard disk), Pen
drive
3



13. 9@ euemevwieniolly euL_HHemen GOMLULSDGL LWSTLGHSULGLD Heneieusid 61gi?
What is the port used to connect a networkcable?

a.
b. RJ45
c.

d. Serial

USB

DVI

14. Qensd(penpOFWLIHLBHSN eIEMBEDHLET OSTLIUmLW Henpwres sbplenard
Cafle) GFuis?
Select the incorrect statement with regard to word processing documents

a.

uss @evdswraig sl (header) osbevgd ogs@Pillisd (footer)
2 emefiLiuL  (piguid.

Page number can be inserted on either header or footer

ubs BevdsniseT 2 _Cmo HevssmsenTs GUUILIUL Wigub.

Page numbers can be specified as roman numbers (i, ii, iii)

Section break eigub SUbFOTEIH PHBEHIQUIF 3 sections  sewsn
2 (HOUTEHS (LPIQULD.

Section break feature can only create a maximum of 3 sections

Ctrl + enter ez @ CauBmd Srofiner @ PUMSHO D _HATHGLW.
Ctrl + enter will insert a blank page into a document

15. depwiner swppienenr Gfley Gsuis?
Choose the incorrect statement

a.
b.
C.

d.

Fmjuysen s LenwssliulBsienen. (Functions are in-built).

GHBHThIGET LWwegnsd 2 meurdslul Beitenar.(Formulas are user defined).
GsHrmisst alfisnefpe support uskiemimgi(.Formulas are not supported in
spreadsheets)

90 UeSSTalsd LWKILGSHW GHHJD WHDICTH UNSSTEHSE Ccopy
uesiter  (piguyb.( Formula used in one worksheet can be copied to another
worksheet.)

16. mreleng Gesogpuing eifsemen (data validation rules) pdeim gappemend
Ozfle) GFuls.
Choose the statement that violates data validation rules.

a.

om wrewreuss ICT wum_Sgled 85 yeieldemen GQuDEpsiTenTar. Iy 660
LieiTerimeiT 65— %2 eefL-LLI Beleng).
A student scores 85 for ICT, but marks are entered as 65.
9® i@l w Qo Cuwy SFAMOUL Casiigw @ HH0 (WPHb
Quwy SFALLULI9MESSH.
A student’s first name is typed in the place where his last name should be
typed.
o® puflengl ehiamehssd posoufl HFALLUL Beousingwi GLHHO euwig
SFALLUL 19HSHSH60.
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17.

18.

19.

A person’s age is entered in the place where his email address should be

typed.
d. Saman @gen w ICT OGupBupm yselwrerigy  Sunil L
B UL IS SH6V.

Saman’s ICT marks are entered for Sunil.

17-19 aeoywrer alamdsEnde Ldaumbd aeyuLBSET wWwWhHp FwedLnT@seisn
Sigliieniuilsd aflenwelégs.
Answer questions 17-19 based on the following diagram and equations

Grggs Gumios) (Gross value)=givg allmeoX6grens (Unit price X Quantity)
_ Gross Value X Discount

sifley Gumuogl (Discount value) Tor
Gaiw Gupuog) (Net Value)= Qurshg Gumiwdl — &fley GQumnog ( Gross value-
Discount value)

=Y ; B .. c 5 ] E F &

1 Product |UnitPrice |Quantity |Gross Value |Discount (26) Discount Value Net Value
2 CPU 8500 12 I )

3 (RAM 11000 73 5

4 Monitor 13000 1S 6

o

D4 cell @0 Monitor @eng Guords OGupiwdulenerds (gross value) sl IBausbe,

QuUTmSSIOTET GBI 61gI?
What is the suitable formula to calculate gross value of Monitor in D4 cell?

a. =B4*C4

b. =B4 X C4

c. =SUM(B4*C4)
d. =SUM(B4 X C4)

CPU @psten &) Oupwgduisnens  (discount value) sefiiniGausne

QUGS SIOTEN ESHATID 61517
What is the suitable formula to calculate discount value for CPU?

a. =D2*E2/100
b. =D2*E2

c. =D2*F2/100
d. =D2-E2/100

RAM @aigy BGspiw Gupuogduiener (net value) seflUNGasBE OGuTmESWTaT
GSATD a151?

What is the suitable formula to calculate net value of RAM?

a. =(B3*D3)-F3
b. =D3-F3

c. =B3*C3/100
d. =D3-D3/100



20.

21.

22.

23.

24.

FTYLS6T WHBEID GSHImSEEHLE OFHTLILmLW Fflwrsn Gxjelenan Osfle GFuis.
Select the correct choice related to functions and formulas
a. &jysei LOBE@ID G S BIB6IT YL AT e BLD uwierflermsd

2 HeuT&SLILIL (HeTenen.
Both functions and formulas are user created.

b. &njyssit LwesTflenTed 2 _[HeurdsLILL BeTengil 65 G SHDIBISHET
&L L_MDHHLILIL (BeiTeTian.
Functions are user created and formulas are in-built.

C. ZFMLIGEIT LiwiesmifleamsD SL_LmLDSHLUILIL B6ITeHIL_ 68T G SHBPHIB6NT
2_heurdbsLILL ([Hsleen

Functions are in-built and formulas are user created.
d. snjyset WHPID GHATRET AW QTEIGLD I LIDHBLILL BeiTeTa.
Both functions and formulas are in-built.

100 iremsujseiiar Lsierast @wm elflstefied o stef L Beitenew. 0-100 BBG
eoLoulr  yeefisemer  WLGL o sefGusn@ uweIgTed 2 _mSLBGHHID
Gurgpssoner  smellden eemeu? Marks of 100 students need to be entered into a
spreadsheet. What is the suitable tools to ensure that user can only enter marks in the
range 0-1007

a. Data validation

b. Conditional formatting

c. What if analysis

d. Symbols

o6 alfisrentarg siaimauaiaupmled eaubmienl CeafilimGib.
A spreadsheet consists of a collection of :

ussmisen (Pages)

usrflilbsemissit (workbooks)

uemlibsreinssit (Worksheets)

S Leusnemiasit (Tables)

e o

QouemGorailsd LHw ussboraflener CupeusBETs (insert) LWSTLIGSHSHHIQUI
sllengliLeoms GUEGau 6g5?
What is the keyboard shortcut used to insert a new page into a document

a. Ctrl+N

b. Ctrl + M
c. Citrl + Enter
d Alt+M

om Wamallly DBepssmsuilsd daly B GmGs@esst (bullets) 50 slides
&6 @LiuL  Geewiguw GComemeuwsiiengl. GUuesfiuienenr  ellenendSpems
QeweoTpEpIUSBE ShsTaRTLBIEy elelaugdleeT LWL I9MmHEGH?

In-a-presentation-red-colour-bulletsneed-to-be-applied-to—50-slides-— Which-of the
following facility should be used to perform this task most efficiently?

a. Slide sorter

b. Notes master

c. Slideshow rehearsal

d. Slide master



25. Uereumeusieupoilsd 61z Hmibd apsv GLOeTGLITH6IT?
Which of the following is an open source sofiware?
a. Libre office Calc
b. MS Office PowerPoint
c. Adobe Photoshop
d. Norton Antivirus

26. 9 UL aledenes ST Fulsnar QDIILLSHGL LWEILUGSSILUGD Frel eg?
What is the key used to start a slideshow?
a. Fl
b. Esc
c. F5
d. Ctrl

27. Genmeumeusweuppied  2,5,6,7,8,13 wpmio 14 uLelsbeneosenen  print  aBLILSBESTEN
SifioypISHHe0 e1g?
Which of the following instruction will print slides 2,5,6,7,8,13 and 14?
a. 1-14
b. 2-14
c. 2,5-14
d 2,5-8,13-14

28. URL https://www.abs.org Gengi o wips wlL ysisengds (top level domain) Guwiy
eT6iTen ?
What is the top level domain of URL https://www.abs.org
a. https
b. www
c. abs
d. org

29. SpsnemiuauBylsd 61H @@ GBIALPEBWITED?
Which of the following is a protocol
a. Ik
b. Dropbox

c. http
d. Proxy

30. Skype queig GTHDBETA @M 2_HTJERIOTEGLD
Skype is an example for:

Grid computing

Cloud computing

Mobile computing

Video conferencing

oo



31. detreuapid 6bgd 2 WDl L. Y6itHemd GUISHCeUTH HILGLT GHTL e wgHebim?
Which of the following top level domain does not relate to a particular country?

a. .net
b. .k
c. .au
d .jp

32. el pagOonaiplel usLBaupl L dlemensenstid @ OBTEHIL 6uEMEOWINLOLIL |
(Networking) sisieurg SfiwiriGasmgs?
Networking several branches in a single city is known as:
a. LAN
b. MAN
c. WAN
d. CAN

33. Wsiieugpsusiieuidpiied Gasmiy wpmp Gasmiysmpenws (files and folders) SiwWsGUSHDES
(compress) LweLED GuoeIGLITHST 61EHI?
Which of the following software can be used to compress files and folders
a. MS Access
b. Ubuntu
c. WinZip
d. Opera

34. URL http:/www.Xyz.com 2_L e G@HT_jyentwi Lienpuires Snpm 61g?
What is the incorrect statement with regard to URL http://www.xyz.com ?

a. 83 ajsHss Crresshdnsrs Dlelmbs QFUILILLL. 6UNeVSHSH6VILD.
It is a website developed for commercial purpose

b. URL @60 uweu@isiul L Gpmissend “http” ou@ib.
Protocol used in the URL is “http”

C. BUISESHHH LM ML FHToysmen 2_sireMBeugs LITHISTUILITOIGS.
It is safe to enter credit card details in this page

d. @st URL @60 euprisiiL_Beiten Gaeneuseir “www”’ u@lb.
Service offered in this URL is “www”

deiaumd o Lamenuimer swpliuaunss Csrew® 3537 aegyurer dlamsosErse
cflenwiefi®s. (Answer questions 35-37 based on the following table.)

S1ID Sname Marks ModCode TelNo

E123 Perera 53 FNDE103 0811234567
E456 Fernando 18 FNDE103 0771234567
E800 Silva 87 ECNE100 0711234577

35. @6l oI Leuememulen (pSHeiieniogd Frel e1gH?
“What is the primary key of the table?
a. SID
b. SName
¢. ModCode
d. TelNo




36. TelNo @bal QUTGSSWIE FIe ams 6g?
What is the suitable data type for TelNo?

a. Number
b. Text

c. Currency
d. Yes/No

37. @6l oI Leusmemuilenr foreign key ergi?
What is the foreign key of the table?

a. SID

b. SName
¢. ModCode
d. TelNo

8.9 DB wWelmbs syeusnen  filter CruasnE Spstauuanbsd sl
QurmpSsLTEISH 618517
Which of the following is most suitable to filter data from a DB?

a.
b.
c.

Reports
Forms
Tables

d. Queries

39. syayssndEI e OBM_FLmLW Fflwimen sapfiienen GFfley Qauls.
Select the correct statement related to Databases

a,

b.

SiLLausmemuisd syelensn o sitefiBGousie Forms LWIeIUBSHSUILG S sma).
Forms can be used to enter data into a table.

S Laememuied syelener 2 siefGougme Reports LWeTLGSSUILG S @maEI.
Reports can be used to enter data into a table.

Queries QeId  FraHSEEANHO  SI L euenesm QB  WTHHTID
2 _H6UTHSHEFnigUIS6IH)

Queries cannot be created for databases with only one table.

snbgGleuney relationships o 1b @eveors i Leuenswn relational databases @b
2 _6iT6TL_MIG60LD.

Tables without any relationships can exist in relational databases.

40. 90 sraHsMEALE ATGSBLHE 96 LnsHoa (field) Osfs.
Select a field that is net suitable for a database

a.

Age

b. FirstName
c.
d.Fax

TelephoneNo



Part B: sl Lenwin] aflemésst (Structured Questions)

1. dpsrgmid uenlisEnhaTar aMFLLNMmE GDISE PGS (1RSI
Write down keyboard shortcuts for the following tasks:(10X1 ysiterflssir)

a.

om Qemsd (popaPfluBdHsed | paemHHRod UFw  ubssHemen
o eieM@eugma@. (To insert a new page into a word processing document):

eisosor  windows @ememujib minimise OGFulupHE&. (To minimise all
windows):

@b QJaemHH0 WPHemag LEsSFBG BEFusBE.(To move to first page
in a document):

9® Camiymme@sit  sremuu@ CamiyseT  JmEIHmSUD  GFfley
Qewieugm@. (To select all files inside a folder):

Winows 8 @s0 @emens &M AluGssesne (To display charms bar in
Winows 8):

sub list @ement YIS BG. (To start a sub list):

P (psiienauLiL| HapSHHImEB W60 PIL) ygHwi UL sllsbensoulenest
o_eitefi@eausm@. (To insert a new slide to a presentation):

9m ameliLsssHemen refresh Qeuisusie. (To refresh a web page):
o® window Bames apBausBs. ( To close a window):

9® OQamevelen Bp GamgBeougme. (To underline a word):

10



. 95D FISGHMSHA  BP apddp LNdCNBL DI LCUDRIBMET  HEUSTHI60

@aieiis. (Consider the following tables that belong to the same Database).

Student Subject
SID | SName DOB Gender | SubID SubID | Title Credits | LID
Alll | Jayasinghe |23/11/1998 | M AR100 AR100 | Maths | 3 L2
A230 | Silva 02/02/1999 | F AR220 AR220 | English | 3 L5
A300 | Perera 16/01/1997 | M AR220 AR300 | ICT 3 1L
A400 | Fernando | 23/08/1998 | M AR300
A561 | Weerakoon | 11/11/2000 | F AR300
Lecturer
LID LName Email Tel Salary
L2 Perera 0811234567 180,000
LS5 Jayawarderna | Jayal23@gmail.com | 0711234567 184,000
a) Ui LOBIBEHEETE SIa| sImSEM6T ST SIS,
Write down data types for the following fields
i. DOB:
ii. Tel:
iii.  Salary
iv. LID
v. LName (5 yeneaseir)
b) @aGarm o Lamemuiagid pHamws sTalulmer aupsis.
Write down the primary key of each table:
i.  Student:
ii.  Subject:
iii.  Lecturer: (3 yeireraseir)

11




c) Spargmid euenyuuLSHenr Uysryhd erumasiobpisaenulled  sI6iaTauemaLITer
GaTLijy Sremuu@d?

According to the following diagram what i$ the type of relationships between:

(2 yeireimsir)

Product and Manufacturer tables:

Product and Distributor Tables:

e, = —

Distéibutor I ) [ Manutactorer
¥ ono | ~ ¥ mno
N, [ )

\ ¥ PNo
= DNo
MNe vl
3. a)
LA C B R F
1 Name |[ICT |Maths| English |Average Rank
2 Sunil 56 78 21
3 Nimal 88 78 23
4 Anusha 97 56 45

1. Fgnefuienars safllBasBEl Gurmsswrer gnjiener E2, E3 wpmpiw
E4 cells @6t o siiBen erqpgi®s. (Write a suitable function inside E2,
E3and E4 cells to calculate Average)

ii. oiflns peeulmer seliLiBausBEl QuImGswren Frjlemenr F2, F3
whgb F4 cells Qe 2 6iBem s1p@His.

(Write a suitable function inside F2, F3 and F4s cell to calculate Rank)

(6 yeneriiseir)

12



b) dpsrgmib GpPmevssisl  swlumLulsd CuEBuBYmes sl GausbE
Curgpdsorer Frjiamen C2 whpmb C3 sasHgisn 6psis.
Write suitable functions inside C2 and C3 cells to calculate grade based on following
criteria:

80-100: “Distinction”

70-79: “Merit”

40-69: “Pass”

0-39: “Fail” (4 ysireflsmeir
,__ T ~ = = o e
1 Student |Marks Grade
2 |Vimal 78
3 Namali 56
a

13



Part C: L@y aleméssit Essay Questions

1. Coxemauliigehr o SHIyeumsame = LUSUGHSU  Ueeumd  UDHhisansn
elené@s. (Explain the following terms using examples where it is necessary).
(4X2.5 yeirefaseir)

udley Penensusid (Register memory)

geiuiwesd Gxllus (Optical storage)

aleangliLmass GubGafss (Keyboard shortcuts)

Network topologies

poos

2. sariamalsenssl usywortas alflsren  Gusiturmefiisnsr  LweTLGSHSIouSH6T
HETEMLDEBEMEN  Sl6TIED G 5S. ‘
Explain benefits of using Spreadsheet software for calculations instead of

calculators (10 ysirefisssit)
3. Uaaumpaeaaphbe Hmbs apeo  CoeGurgmer esueun  LWSTLGSSIBE
aILIGmST 6D ES.
Explain how Open source Software be useful for following: (2X5 yefiefissir)
a. &oval (Education)
b. em BT er GQurgmeTsIFw (A country’s economy )

********************************End ofPaper********************************
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